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BR3—2 BEWICHEATILEESNIERIETIEE (/1) _ _ _ _ HEFE | FRISEE
SEMNOME | EmES | 023b1006 ERTH \ FE-2 | FriEH  [AEMFEF28HE
. SERHO FinlZBET 51 SfERHA
*giﬁfg TEFEOBRBDOSIENDKRES TREFOHBESIENDKRES TEFEOBBOSIEADKES TREDHFESILNIDOKRES
= = AN E AN | = = AN = R AN =3 =3
Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 =~ - - -
Zh st 1.00] 000 ~ 643 95.87] #hLis 000 ~ 6.43] 2.07 9.13 ZThLLSE 1.00] 500 ~ 1296 95.87| #hLlst | 500 ~ 12.96| 2.07 9.13
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 =~ - - -
Zh st 1.00[0.00 ~ 647 96.42] ZhLis 000 ~ 647| 2.06 9.08 Zh LS 1.00| 500 ~ 13.31 96.42| Zhils | 500 ~ 13.31| 2.06 9.08
3 100kN/mM##8Z % 1.00/ 000 ~ 0.13 102.14|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 13.77 ~ 14.41 102.14|3m%i#BZ 5 =~ = = =
Zh st 1.00{013 ~ 6.81 100.00] #h st 000 ~ 6.81| 2.10 9.22 Zh LS 1.00|] 500 ~ 13.77 100.00| Zh it | 500 ~ 14.41] 210 9.22
4 100kN/mM#%# 8% % 1.00/ 000 ~ 021 103.41|3mZi#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 13.80 ~ 14.84 103.41|3m%i#BZ % =~ = = =
Zh st 1.00[021 ~ 6.89 100.00] #hlist | 000 ~ 6.89] 209 9.22 Zh LS 1.00|] 500 ~ 13.80 100.00| Zh it | 500 ~ 14.84| 2.09 9.22
5 100kN/mM#%# 8% % -l -~ = -|3mZzBzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 6.28 93.34| #hbLlst | 000 ~ 6.28] 2.03 8.93 Zh LS 1.00| 500 ~ 13.12 93.34| Zhuls | 500 ~ 13.12| 2.03 8.93
6 100kN/mM#%#BZ % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 540 79.52| #h st |0.00 ~ 540] 1.70 7.46 Zh LS 1.00|] 500 ~ 9.12 7952 #hList | 500 ~ 9.12| 1.70 7.46
7 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00{ 0.00 ~ 6.31 93.95| Zn L4t | 000 ~ 6.31| 2.14 9.41 Zh st 1.00f 500 ~ 11.74 93.95| Zn Lyt | 500 ~ 11.74 2.14 9.41
8 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S =~ = = =
ZnLst 1.00] 0.00 ~ 6.40 95.39] Zn L4t | 0.00 ~ 6.40| 2.11 9.27 Zhn st 1.00f 500 ~ 12.40 95.39| Zn Lyt | 500 ~ 1240 2.11 9.27
9 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %8z % = -~ = -|3m%EiEZ S =~ = = =
Zrn Lot 1.00{ 0.00 ~ 556 81.92| ZnList | 000 ~ 556| 1.79 1.87 st 1.00f 500 ~ 9.10 81.92| Zzh Ll | 500 ~ 9.10[ 1.79 7.87
10 100kN/mM%#EZ % = -~ = -|3m%EiEZS -~ = = -| 100kN/ %z % = -~ = -|3m%EiEZ S =~ = = =
ZnLst 1.00] 0.00 ~ 5.36 7891 =h st | 0.00 ~ 536 1.69 7.42 Zh st 1.00f 500 ~ 9.10 7891 Zh st | 500 ~ 9.10| 1.69 7.42
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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